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1) Prove that Cos(A-B) = CosACosB + SinAsinB
Solution;

Let P(CosA, SinA) and
Q(CosB, SinB) be any two
points on the unit circle with
centre at the origin 0.

Let 7 and 7 be the unit

vectors along the
) co-ordinate axes.

5?=C05AT+SinAT
| 0Q=Cos BT+SinBT

0P = 0Q||0P|Cos(A-B)
=Cos(A-B).......(1)

56. 0P = CosACosB+SinASinB ......(2)
(1)=(2)=Cos (A-B)=CosACosB+SinASinB

3) Prove that Cos(A+B)—=CosACosB - SinASinB
Solution:

Let P(CosA, SinA) and Q(CosB, -SinB) be any two
points on the unit circle with centre at the origin 0.
Let T and 7 be the unit vectors along the co-

ordinate axes.
OP=CosAT + SinAJ
0Q=CosBT-SinBT g

0Q 0P =|0Q||0P|Cos (A+B)
= Cos(A+B)............ (1)

O_Q' _O_l;=C05ACOSB - SinASinB......(2)
(1)=(2)= Cos (A+B)=CosACosB - SinASinB

2) Prove that Sin(A-B) = SinACosB - CosASinB
Solution:

Let P(CosA, SinA) and
Q(CosB.SinB) be any two
points on the unit circle
| with centre at the origin O.

Let 7 and J be the unit

vectors along the
co-ordinate axes

0_P.=CosAT+SlnAT
00=CosBT+SinBJ
0Qx0P=|0QI(0P[Sin (A-B)k
- Sin (A-BJk...(1)

S g o

O_Q"0P= CosB SinB 0
CosA SinA 0

=k (SinACosB ~CosASinB)...(2)
(1)=(2) = Sin (A-B)=SinACosB ~CosASinB

4) Prove thatSin (A+B) = SinACosB +CosASinB
Solutons:

Let P(CosA, SinA) and Q (CosB, -SinB) be any two
points on the unit circle
with centre at the origin
0.

Let1and ] be the unit

vectors along the
co-ordinate axes.

OP=CosAT+SinAT
0Q=CosBT-SinBY
0Q~0P=|00||0P|Sin (A+B) k

= Sin (A+B)K.........(1)
=% | S,

0Q-0P=|CosB -SmmB 0
CosA SmA 0

=(SinACosB+CosASInB)k .........(2)
(1)=(2) = Sin (A+B)=SInACosB+CosASinB
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